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QUESTION 1

You are developing a SQL Server Analysis Services (SSAS) tabular project. The model includes a table named Sales.
The Sales table includes a single date column.

The Sales table must meet the following requirements:

Queries must be able to return all rows.

Must be able to support four different processing schedules for different date ranges.
Date ranges must not include any overlapping data.

You need to implement a solution that meets the requirements.

What should you do?

A. Create four partitions for the Sales table. Create four roles. Use the same row filter queries for each role and
partition.

B. Convert the Sales table into four smaller tables by using row filter queries. Use one perspective for all four tables.
C. Create four partitions for the Sales table. Use row filter queries for each partition.

D. Convert the Sales table into four smaller tables by using row filter queries. Use one perspective for each of the four
tables.

Correct Answer: C

QUESTION 2

Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may
be correct for more than one question in the series. Each question is independent of the other questions in this series.

Information and details provided in a question apply only to that question.

You administer a Microsoft SQL Server Analysis Services (SSAS) tabular model for a travel agency that specializes in
vacation packages. Vacation bookings and packages are stored in a SQL Server database. You use the model as the

basis for customer emails that highlight vacation packages that are currently underbooked, or projected to be
underbooked.

The company plans to incorporate cruise ship vacation packages. Cruise ship vacation packages include new features
such as region availability and cruise line specialties that require changes to the tabular model.

You must ensure that the tabular model reflects the new vacation packages.
You need to configure the tabular data model.
What should you do?

A. Ensure that DirectQuery is enabled for the model.
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B. Ensure that DirectQuery is disabled for the model.

C. Ensure that the Transactional Deployment property is set to True.

D. Ensure that the Transactional Deployment property is set to False.

E. Process the model in Process Full mode.

F. Process the model in Process Data mode.

G. Process the model in Process Defrag mode.

Correct Answer: E

Process Full processes an Analysis Services object and all the objects that it contains. When Process Full is executed
against an object that has already been processed, Analysis Services drops all data in the object, and then processes

the object. This kind of processing is required when a structural change has been made to an object, for example, when
an attribute hierarchy is added, deleted, or renamed.

QUESTION 3

You are troubleshooting query performance for a SQL Server Analysis Services (SSAS) cube.
A user reports that a Multidimensional Expressions (MDX) query is very slow.

You need to identify the MDX query statement in a trace by using SQL Server Profiler.
Which event class should you use?

A. Get Data From Aggregation

B. Query Subcube

C. Query Begin

D. Progress Report Begin

E. Calculate Non Empty Begin

F. Execute MDX Script Begin

Correct Answer: C

QUESTION 4

Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may
be correct for more than one question in the series. Each question is independent of the other questions in this series.
Information and details provided in a question apply only to that question. You administer a Microsoft SQL Server
Analysis Services (SSAS) tabular model for a retail company. The model is the basis for reports on inventory levels,
popular products, and regional store performance.

The company recently split up into multiple companies based on product lines. Each company starts with a copy of the
database and tabular model that contains data for a specific product line.
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You need to optimize performance of queries that use the copied tabular models while minimizing downtime.
What should you do?

A. Ensure that DirectQuery is enabled for the model.

B. Ensure that DirectQuery is disabled for the model.

C. Ensure that the Transactional Deployment property is set to True.

D. Ensure that the Transactional Deployment property is set to False.

E. Process the model in Process Full mode.

F. Process the model in Process Data mode.

G. Process the model in Process Defrag mode.

Correct Answer: C

The Transactional Deployment setting controls whether the deployment of metadata changes and process commands
occurs in a single transaction or in separate transactions. If this option is True (default), Analysis Services deploys all

metadata changes and all process commands within a single transaction.

If this option is False, Analysis Services deploys the metadata changes in a single transaction, and deploys each
processing command in its own transaction.

References:https://docs.microsoft.com/en-us/sql/analysis-services/multidimensional- models/deployment-script-files-
specifying-processing-options

QUESTION 5

A database named DB2 uses the InMemory query mode. Users frequently run the following query:

EVALULTE
FILTER (|
o
ADDCOLUMNS | &
VALUES (’Eate‘[ﬂaiendariﬁear]},
“Bales”, CATCHOLATE iﬂfgb (" Tnternet JSales’ [Bales Imnunt] ) )
Ve
[Sales] > 8000000 5#
(€

o=

RDER BY 'Date’ [Calendar Year]

You need to ensure no users see the PriorYearSales measure in the field list for the Sales table. What should you do?

A. Create a perspective, and ensure that the PriorYearSales measure is not added to the perspective. Ensure that users
connect to the model by using the perspective.

B. Set the Display Folder property for PriorYearSales toHidden.

C. Remove the PriorYearSales measure from the default field set of the Sales table.
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D. Create a role using Read permissions, and define a DAX expression to filter out the PriorYearSales measure. Add all
users to the role.

Correct Answer: A

Using perspectives in the data model might help you expose a subset of tables, columns, and measures that are useful
for a particular type of analysis. Usually, every user needs only a subset of data you create, and showing him or her the

model through perspectives can offer a better user experience.

From scenario; The PriorYearSales measure is referenced by other measures, and is not intended to be analyzed
directly by users.

References: Microsoft SQL Server 2012 Analysis Services, The BISM Tabular Model, Microsoft Press (July 2012), page
305

QUESTION 6

You are a business analyst for a retail company that uses a Microsoft SQL Server Analysis Services (SSAS)
multidimensional database for reporting. The database contains the following objects:

Type MName = Content
Measure Internet Sales Amount ,;j?f'\ online sales data
Dimension Date (ef the date of sales
Hierarchy Date.CaEendar.Calen@f‘Year the calendar year of the sale
Hierarchy Date.Calendar.Mouht the month of the sale

You must create a report that shows, for each month, the Internet sales for that month and the total Internet sales for the
calendar year up to and including the current month. You create the following MDX statement (Line nhumbers are
included for reference only.):

01

02 SELECT
03 {{ [Measures].[Internet Sale ﬁ:r.n:-:n:] 1, [Measures].[Goal]} on 2,
04 {[Date].[Calendar]. [Month embers} on 1 e,
05 FROM [Adventure Works]: b

r.3

You need to complete the MDX statement to return data for the report. Which MDX segment should you use in line 017
A.

B.

C.

D.

Correct Answer: B

The following example returns the sum of the Measures. [Order Quantity] member, aggregated over the first eight
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months of calendar year 2003 that are contained in the Date dimension, from the Adventure Works cube.
Copy

WITH MEMBER [Date].[Calendar].[First8Months2003] AS Aggregate(

PeriodsToDate(

[Date].[Calendar].[Calendar Year],

[Date].[Calendar].[Month].[JAugust 2003]

)

)

SELECT

[Date].[Calendar].[First8Months2003] ON COLUMNS,
[Product].[Category].Children ON ROWS

FROM

[Adventure Works]

WHERE

[Measures].[Order Quantity]

References:https://docs.microsoft.com/en-us/sql/mdx/aggregate-mdx

QUESTION 7

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution. Determine whether the solution meets the stated goals.

You have a Microsoft SQL Server Analysis Services (SSAS) multidimensional database that stores customer and order
data for customers in the United States only. The database contains the following objects:

Type MName Content
Measure Reseller Average Unit Frice 6\ the average unit price of sales
M |
c’v
Dimension Geography {U‘ the location of resellers
&
L the state or province where the
Hierarch Geography.State-Province g~ P )
¥ graphy & reseller is located

Geography.State—F’mvil‘?S&[WA]&[US}, a specific stete and

Memb
S Geography.5tate-Province. &[GA]&[US] country/region

You must create a KPl named Large Sales Target that uses the Traffic Light indicator to display status. The KPI must
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contain:
Expression type Description

Value the reseller average unit price &

Gl the average reseller average i!ﬁ?‘t‘price for US states other than Colorado
(CO)
a green indicator if th ue is at least 10 percent above the goal, a red

Status indicator if the valu 5 percent or more below the goal, and a yellow
indicator for other¥alues -'i:'-i- "

Trend the value for trend is always 0 s

You need to create the KPI.

Solution: You set the value of the Status expression to:

Casze
Bhen KpiValue ("Reseller Average Unit Price” ;'Ep'_GDal{”Large Sales Target”) >= 1.1
Then 1 &
khen KpiValue ("Reseller Average Unit E‘:‘iie_ /Kp-Goal ("Large Sales Target”) < 1.1
And
EpiValue ("BEeseller Average Jé-f_zé Price”) /EpiGoal ("Large Sales Target”) > .85
Then O e
Flse-1 o
End

Does the solution meet the goal?
A. Yes
B. No

Correct Answer: A

QUESTION 8

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution. Determine whether the solution meets the stated goals.

You deploy a tabular data model to an instance of Microsoft SQL Server Analysis Services (SSAS). The model uses an
in-memory cache to store and query data. The data set is already the same size as the available RAM on the server.

Data volumes are likely to continue to increase rapidly.
Your data model contains multiple calculated tables.

The data model must begin processing each day at 2:00 and processing should be complete by 4:00 the same day. You
observe that the data processing operation often does not complete before 7:00. This is adversely affecting team

members.

You need to improve the performance.
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Solution: Enable Buffer Cache Extensions.

Does the solution meet the goal?

A. Yes

B. No

Correct Answer: B

In this scenario we would need both Buffer Cache Extensions and SSD.

The buffer pool extension provides the seamless integration of a nonvolatile random access memory (that is, solid-state
drive) extension to the Database Engine buffer pool to significantly improve 1/0 throughput.

References:https://docs.microsoft.com/en-us/sql/database-engine/configure- windows/buffer-pool-extension

QUESTION 9

You are developing a SQL Server Analysis Services (SSAS) tabular project.

You need to grant the minimum permissions necessary to enable users to query data in a data model.
Which role permission should you use?

A. Explorer

B. Process

C. Browser

D. Administrator

E. Select

F. Read

Correct Answer: F

QUESTION 10
You are managing a SQL Server Analysis Services (SSAS) tabular database.
The database must meet the following requirements:

The processing must load data into partitions or tables. The processing must not rebuild hierarchies or relationships.
The processing must not recalculate calculated columns.

You need to implement a processing strategy for the database to meet the requirements.
Which processing mode should you use?

A. Process Clear

Latest 70-768 Dumps | 70-768 PDF Dumps | 70-768 Practice Test 8/14


https://www.geekcert.com/70-768.html
https://www.geekcert.com/70-768.html
https://www.geekcert.com/70-768.html

VCE & PDF https://lwww.geekcert.com/70-768.html
2019 Latest geekcert 70-768 PDF and VCE dumps Download

GeekCert.com

B. Process Data
C. Process Add

D. Process Full

E. Process Default

Correct Answer: C

QUESTION 11

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution. Determine whether the solution meets the stated goals.

You deploy a tabular data model to an instance of Microsoft SQL Server Analysis Services (SSAS). The model uses an
in-memory cache to store and query data. The data set is already the same size as the available RAM on the server.

Data volumes are likely to continue to increase rapidly.
Your data model contains multiple calculated tables.

The data model must begin processing each day at 2:00 and processing should be complete by 4:00 the same day. You
observe that the data processing operation often does not complete before 7:00. This is adversely affecting team

members.

You need to improve the performance.

Solution: Change the storage mode for the data model to DirectQuery.
Does the solution meet the goal?

A. Yes

B. No

Correct Answer: A

By default, tabular models use an in-memory cache to store and query data. When tabular models query data residing
in-memory, even complex queries can be incredibly fast. However, there are some limitations to using cached data.

Namely, large data sets can exceed available memory, and data freshness requirements can be difficult if not
impossible to achieve on a regular processing schedule.

DirectQuery overcomes these limitations while also leveraging RDBMS features making query execution more efficient.
With DirectQuery: +

Data is up-to-date, and there is no extra management overhead of having to maintain a separate copy of the data (in the
in-memory cache). Changes to the underlying source data can be immediately reflected in queries against the data

model. Datasets can be larger than the memory capacity of an Analysis Services server.

Etc.
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References:https://docs.microsoft.com/en-us/sql/analysis-services/tabular- models/directquery-mode-ssas-tabular

QUESTION 12

Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may
be correct for more than one question in the series. Each question is independent of the other questions in this series.
Information and details provided in a question apply only to that question.

You have a Microsoft SQL Server Analysis Services (SSAS) instance that is configured to use multidimensional mode.
You create the following cube:

£ Shipment

wO Shipmentld Customers
Customerkey w0 Customerkey
CountryKey CustomerName &
Weight

Products

O ProductKoy
FroductMName
Colorkey
Size

CountryName

UnitPrice
SalesAmount

o Colorkey
ColorMame

Users need to be able to analyze sales by product and color.

You need to create the dimension.

Which relationship type should you use between the InternetSales table and the new dimension?
A. no relationship

B. regular

C. fact

D. referenced

E. many-to-many

F. data mining

Correct Answer: D

A reference dimension relationship between a cube dimension and a measure group exists when the key column for the

dimension is joined indirectly to the fact table through a key in another dimension table, as shown in the following
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illustration.

kRefarence Regular
Dirmension E Dimension

& |l |

Measure
Table %

A reference dimension relationship represents the relationship between dimension tables and a fact table in a snowflake
schema design. When dimension tables are connected in a snowflake schema, you can define a single dimension using
columns from multiple tables, or you can define separate dimensions based on the separate dimension tables and then

define a link between them using the reference dimension relationship setting. The following figure shows one fact table
named InternetSales, and two dimension tables called Customer and Geography, in a snowflake schema.

1] Geography 7] Custamer ] InternetSales
ﬁ‘ﬂ Geugraphyl«iey4—| ﬁjﬂ CustumerKey{i. ] ’gj ZalesOrderMurnber -
City Gengr’aphy}{e&) £ gﬂ SalesOrderLineMurmber _|
StateProvinceCode MiddleMa » Productk ey
StateProvinceMame Lastia OrderDatekey
Nam#‘t'g,rle DueDatekey
E@Date ShipDatekey

Customerkey

You can create two dimensions related to the InternetSales measure group: a dimension based on the Customer table,
and a dimension based on the Geography table. You can then relate the Geography dimension to the InternetSales
measure group using a reference dimension relationship using the Customer dimension.

QUESTION 13

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution. Determine whether the solution meets the stated goals.

A company has an e-commerce website. When a customer places an order, information about the transaction is
inserted into tables in a Microsoft SQL Server relational database named OLTP1. The company has a SQL Server
Analysis

Services (SSAS) instance that is configured to use Tabular mode. SSAS uses data from OLTP1 to populate a data
model.

Sales analysts build reports based on the SSAS model. Reports must be able to access data as soon as it is available
in the relational database.

You need to configure and deploy an Analysis Services project to the Analysis Services instance that allows near real-
time data source access.

Solution: In the Deployment Option property for the report, you set the Query Mode to InMemory with DirectQuery.
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Does the solution meet the goal?
A. Yes

B. No

Correct Answer: B

With InMemory with DirectQuery: Queries use the cache by default, unless otherwise specified in the connection string
from the client. References: https://msdn.microsoft.com/en-us/library/hh230898(v=sql.120).aspx

QUESTION 14

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution. Determine whether the solution meets the stated goals.

You have a Microsoft SQL Server Analysis Services (SSAS) multidimensional database that stores customer and order
data for customers in the United States only. The database contains the following objects:

Type MName Content
Measure Reseller Average Unit Frice & the average unit price of sales
M |
G‘J"
Dimension Geography {U‘ the location of resellers
&
L the state or province where the
Hierarch Geography.State-Province g~ P )
¥ graphy & reseller is located

Geography.State—F’mviﬁ?S&[WA]&[US}, a specific stete and

Memb
S Geography.5tate-Province. &[GA]&[US] country/region

You must create a KPl named Large Sales Target that uses the Traffic Light indicator to display status. The KPI must
contain:

Expression type Description

Value the reseller average unit price &

Gl the average reseller average iﬁ‘price for US states other than Colorado
(CO)
a green indicator if th ue is at least 10 percent above the goal, a red

Status indicator if the valu 5 percent or more below the goal, and a yellow
indicator for other¥alues

Trend the value for trend is always 0

You need to create the KPI.

Solution: You set the value of the Status expression to:
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Case
khen KpiValue ("Large Sales Target"]#KpiGaal["&arqe Sales Target”) >= 1.1
Then 1 &
khen KEpiValue ("Large Sales Iaru:_:et"],-’Kpin:‘Q "Large Sales Target™} « 1.1
And
EpiValue ("Large Sales I‘argqus'l'&.-“Hpj_GDa'_ "Large 3ales Target™) > .85
Then &
Else-1 L
End

Does the solution meet the goal?
A. Yes
B. No

Correct Answer: B

QUESTION 15

You are developing a SQL Server Analysis Services (SSAS) tabular project that will be used by the finance, sales, and
marketing teams.

The sales team reports that the model is too complex and difficult to use. The sales team does not need any information
other than sales-related resources in the tabular model. The finance and marketing teams need to see all the resources
in the tabular model.

You need to implement a solution that meets the needs of the sales team while minimizing development and
administrative effort. What should you do?

A. Create a separate partition for each team.

B. Create a separate data source for each team.

C. Create a perspective for the sales team.

D. Enable client side security to filter non-sales data.

Correct Answer: C
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